3. Risk management (RM) and business continuity management (BCM) are often presented as quite separate professional activities. Following a critical evaluation of evidence relating to theory and practice, to what extent do you believe that RM and BCM are distinct or inseparable? Your response is expected to refer to academic literature such as articles published in peer-reviewed journals and books.

The work must be presented in essay format followed by a list of references.
The work must be presented in 12 point font size with single spacing and must not exceed two A4 pages (excluding cover page, list of references, and graphics) with margins set at 2 centimetres all round.
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Modules are marked on a range of 0-100%. Mark descriptors are given in the table below. A mark below 40%
tes a Fail grade (the shaded boxes).

Indicates that no fault can be found with the work other than very minor errors, for
example typographical, or perhaps failure to satisfy the most challenging and exacting
demands of the assessment.

Indicates a very high level of understanding evidenced by an ability to engage critically
and analytically with source material. Likely to exhibit independent lines of argument
Only minor errors or omissions.

Judged to be very good, yet not outstanding. May contain minor errors o omissions. A
‘well developed response showing clear knowledge and the ability to interpret and/or
apply that knowledge.

Indicates a sound understanding of basic points and principles but with some failure to
express or to apply them properly. Hence the answer is essentially correct, has some
errors or omissions, and is not seriously flawed.

Indicates a more limited understanding of basic points and principles, with significant
errors and omissions. These errors and omissions, however, do not cast doubt on the
basic level of understanding.

Indicates questionable understanding of basic points and principles yet sufficient to
show that learning outcomes have been achieved at a rudimentary level.

tes an answer that shows only weakly developed elements of understanding.
‘The learning outcomes have been insufficiently realised.

Very little knowledge has been demonstrated and the presentation shows little
coherence of material or argument.
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